Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

IfL1is expressed by r1, then the language expressed by r17 will be

~

Answer | Please select your correct option )

Reqgular
o

Ir-regular

Infinite

Such language does not exist

Yede By: Weldgelr Siddhu




Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

“Cmne language can be expressed by

EA™

~

Answer | Please select your correct option )

only one
o

any

mare than one

only two

Yede By: Weldgelr Siddhu




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Below given FA can be expressed by the

Jowm-C

| v

Answer | Please select your correct option )

(atb)tala +b)*a+b{a+b)*b
P

ala+b)*a+bia+ b

afatb)*b+b(atbi*a

bla+tb)*ata(at+tb)*b

Yede By: Weldgelr Siddhu




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

L4

Answer | Please select your correct option )

(atb)tala +b)*a+b{a+b)*b
P

ala+b)*a+bia+ b

afatb)*b+b(atbi*a

bla+tb)*ata(at+tb)*b

Yede By: Weldgelr Siddhu




Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

In TG there may esxst paths for certan sting,

~

Answer | Please select your correct option )

only one
P
only two
-~
only three
-
. ne _
Yede By: Weldgelr Siddhu




Question No : 5 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Below given TG s are

ab

5

-

Answer | Please select your correct option )

Equivalent
P

Hon-ecquivalent

Mot valid

There is no way to determine this condition

Yede By: Weldgelr Siddhu




Question No : 5 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

a

ab ab

A

Answer | Please select your correct option )

Equivalent
P

Hon-ecquivalent

Mot valid

There is no way to determine this condition

Yede By: Weldgelr Siddhu




Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 5 of 26

- N

Answer | Please select your correct option )

Equivalent
P

Hon-ecquivalent

Mot valid

There is no way to determine this condition

‘ hade By: Bagdar Siddhy




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

&l
ab ab J

w A v

Answer | Please select your correct option )

Equivalent
P

Hon-ecquivalent

Mot valid

There is no way to determine this condition

‘ hade By: Bagdar Siddhy




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

aa,bb

Answer | Please select your correct option )

Equivalent
P

Hon-ecquivalent

Mot valid

There is no way to determine this condition

‘ hade By: Bagdar Siddhy




Question No : 6 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

GTG can have final state.

~

Answer | Please select your correct option )

0
o

Wlare than 1

Wore than 2

Yede By: Weldgelr Siddhu




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

If rl and r2 are regular expressions then rl+r21s a

~

Answer | Please select your correct option )

RE
P

FA4

TG

GTG

Yede By: Weldgelr Siddhu




Question No : 8 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

Alphabet Z= {abc,ce} has number of letters equal to

Answer | Please select your correct option )

One
P

Twee

Three

Yede By: Weldgelr Siddhu




Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

If rlis aregular expression thenrl®is a

~

Answer | Please select your correct option )

NEE
e
[P
_[re
Yede By: Weldgelr Siddhu




Question Mo : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Show that any language that can be accepted by a Transiion Graph (T'3) can also be accepted by another TG wath an even number of states.

| v

Answer | Please select your correct option )

~

bababa

ababab

aaaab

bbaabb

Yede By: Weldgelr Siddhu




Question Mo : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

-

[l

Answer | Please select your correct option )

bababa
o

ababab

aaaab

bbaabb

Yede By: Weldgelr Siddhu




Question No : 10 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

F -

: i

Answer | Please select your correct option )

bababa
o

ababab

aaaab

bbaabb

Yede By: Weldgelr Siddhu




Question Mo : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Above given TG accepts the

string.

Answer | Please select your correct option )

~

bababa

ababab

aaaab

bbaabb

Yede By: Weldgelr Siddhu




Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

In there must be transihon for all letters.

~

Answer | Please select your correct option )

NFA
I

FA4

TG

GTG

Yede By: Weldgelr Siddhu




Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

b
E: 4 i“/\ AE::

Above given structure is a

~

Answer | Please select your correct option )

F4
I

Yede By: Weldgelr Siddhu




Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

| v

Answer | Please select your correct option )

F4
I

NFA -

TG

Yede By: Weldgelr Siddhu




Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Above given structure is a

Answer | Please select your correct option )

F4
I

NFA -

TG

Yede By: Weldgelr Siddhu




Question No : 14 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

If we want to malkee a Moore machne equivalent to Idealy machine then

Answer | Please select your correct option )

We should ignore the extra character prmted by the Woore machme.
P

e should ignore the extra character printed by the hiealy machine.

e will malce the initial state as a no carry state

e should not ignore the extra character printed by the Moore machine.

Yede By: Weldgelr Siddhu




Question Mo : 15 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Choose the correct word produced by the BE (a*b*)ab

~

Answer | Please select your correct option )

Aaaa
Ie

bbbb

abab

Iull

Yede By: Weldgelr Siddhu




Question No : 16 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

The machine helps n bulding a machme that can perform the addition of bnary mumbers.

Answer | Please select your correct option )

Incrementing
P

Complementing

Decrementing

Ifultiplication

Yede By: Weldgelr Siddhu




[

I

p\

rlFr2es*

(rlr2r3)*

il i g

Mone of the given

{8 =

(\

&



Question No : 17 of 26 Marks: 1 (Budgeted Time 1 Min) (=]
U — | D e =/ (6 ) ... X -

Considering Kleene’s theorem, what BE should be in place of X in the 2nd GTIG.

Answer | Please select your correct option )

rl*r2 3%
P

(rlrar3*

r1* 2% 3%

Hone of the given

Yede By: Weldgelr Siddhu




Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

There are steps n the recursive defimbion of languages.

~

Answer | Please select your correct option )

1

2

3

- 4
Yede By: Weldgelr Siddhu




Question No : 19 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

A1l of the following words are accepted except

Consider the followmg Fegular Expression (BE) a (a+b)*b +b(a+b) a.

~

Answer | Please select your correct option )

aab
P

abaab

bab

bha

Yede By: Weldgelr Siddhu




Question No : 20 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Consider the followmg machine:

04

| v

Answer | Please select your correct option )

1000110010
I

1000110010

1000111010

0111000110

Yede By: Weldgelr Siddhu




Question Mo : 20 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

TWhich of the following will the output for input string "0111000101"

14U

04

Answer | Please select your correct option )

1000110010
I

1000110010

1000111010

0111000110

Yede By: Weldgelr Siddhu




Question No : 21 of 26

Eead the followmng statements carefully. If the statement 15 true wnite true otherwise write false.

Marks: 2 (Budgeted Time 4 Min) (=]
a) Kleene's star and Eleene’s closure are different

b3 Length of output string i one less than that of input string in mealy machine.

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12

=y

Yede By: Wadgelr Siddhu



Question No : 22 of 26 Marks: 2 (Budgeted Time 4 Min) (=]

~

Let us consider incrementing mealy machine What operations could be performed using the incrementing Mealy machine?

Answer | Please click here to Add Answer )

O E S| e e & e o=
Jtiarmal I | =2 =ie g g‘

, Yede By: Wadgelr Siddhu




Question No : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

-

Take closure of the gven Fiute Automaton (FA):

Answer | Please click here to Add Answer )

FHESR[ I ES & [E DL |@|100%_||
|Nurmal I | 2 =Zinz o H__ :

Yede By: Wadgelr Siddhu




Question No : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

SN A >

Answer | Please click here to Add Answer )

OB a] = o |G R) o =
[Farmel | BT =iz =Hienuls = |

, Yede By: Wadgelr Siddhu




Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min) =]

-

Suppose a laze of 20 boxes, 1 box for mubial and 1 for the final state. There are 5 boxes for non-moveable states while the rest of boxes are used for transihons. Draw a Nondetermirstic Fimte

Automaton (MFA) for the given Maze.

Marks [2.5+2.5]

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 Q‘E =i

, Yede By: Wadgelr Siddhu




Question No : 26 of 26 Marks: 5 (Budgeted Time 10 Min) =]

|»

Concatenate the following two FA's:

Answer | Please click here to Add Answer )

FHESR[ I ES & [E DL |@|100%_||
|Nurmal I | 2 =Zinz o H__ :

Yede By: Wadgelr Siddhu




Marks: 5 (Budgeted Time 10 Min) =]

Question No : 26 of 26

I

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ |§

Yede By: Wadgelr Siddhu




Q.No=answer page

1=a 18

2= 14
3=no idea

d=d 19
5=no idea

b=more than 1

/=a 9

a=cC Moazz
9=d 9

le=c repeat
11=MNFA 45
12=b 43
13=c 42
14=a repeat
15=c idea
le=a 1%
17=d

18=c 7
19=bab

28=noidea





